2 WASre:

Online

Parts Catalog - Option Detail

Option Group Graphic Film Card Date
ngl 35- 08.10 hx957ge 4 29-0OCT-13

6C8.3, C GAS PLUS CM556, G8.3, G8.3 CM558, GTA8.3 CM558, ISC CM2150, ISC CM554, ISC CM850, ISC8.3
CM2250, ISC8.3 G CM2180 C101, ISL CM2150, ISL CM554, ISL CM850, ISL G CM2180, ISL8.9 CM2150 L110, ISL8.9
CM2880 L112, ISL9 CM2150 SN, ISL9 CM2250, ISL9 CM2350 L101, ISL9 CM2350 L111, ISLE4 CM850, L GAS PLUS
Engines CMb556, L8.9, L8.9 L121, L8.9G CMOH2.0 L125B, L9 CM2350 L116B, L9 CM2350 L119B, L9 CM2350 L120C, L9

CM2350 L123B, L9.3 L105, L9.5 L117, LON CM2380 L124B, QSC8.3 CM2250, QSC8.3 CM2880 C102, QSC8.3
CM554, QSC8.3 CM850(CM2850), QSL9 CM2250, QSL9 CM2250 L115, QSL9 CM2350 L102, QSL9 CM2350

L107, QSL9 CM2350 L118, QSL9 CM2350 L122, QSL9 CM554, QSL9 CM850(CM2850), QSL9 G CM558, QSL9 M
CM2250 L106, QSL9.3 CM2880 L113

SMALL | MEDIUM | LARGE


https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('hx957ge','/rtgraphics/english/parts/hx/9/hx957ge_sm.png');
javascript:swap_img('hx957ge','/rtgraphics/english/parts/hx/9/hx957ge_md.png');
javascript:swap_img('hx957ge','/rtgraphics/english/parts/hx/9/hx957ge_lg.png');

View My Cart

HX9135-01 Heat Exchanger MR - EXCHANGER, HEAT...(More)

Engine Family: C Series
Seawater Heat Exchanger
Mounting Location: Exhaust
Side on Engine
Expansion Tank Fill Location:
Right Center
Engine Aspiration:
- Turbocharged;
- Seawater Aftercooled
Exhaust Manifold Type: Wet
Seawater Flow (GPM): 75
Seawater Outlet (mm): 50.8
(2 in.) Rear Straight Up

1 S949B Pipe Plug 1/8 NPT

2 S 1047 A Male Adapter Elbow

3 63241 A Plain Hose

4 68138 Male Connector

5 145582 O-Ring Seal

6 145583 O-Ring Seal

7 3093936 Hexagon Flange Head Cap Screw M10 X 1.50 X 90

8 3278481 Flexible Hose

9 3627856 Male Connector

10 3899728 O-Ring Seal

11 3900631 Hexagon Flange Head Cap Screw M8 X 1.25 X 25.

12 3900632 Hexagon Flange Head Cap Screw M8 X 1.25 X 35.

13 3900634 Hexagon Flange Head Cap Screw M10 X 1.50 X 50.




14 3901445 Hexagon Flange Head Cap Screw M8 x 1.25 x 45
15 3910509 Hose Clamp 1/4 - 7/8 in.
16 3916050 Flexible Hose
17 3922848 Hose Clamp
18 3924493 Plain Hose
19 3924962 Hexagon Flange Head Cap Screw M8 x 1.25 x 16
20 3966258 Water Inlet Tube
21 3966259 Water Inlet Tube
22 3970717 Water Inlet Connection
23 4003347 Tube Clamp

4942761 Heat Exchanger
24 68241 Zinc Electrode Plug
25 3064947 Pipe Plug 1/8 NPT
26 3278093 Pipe Plug 1/4 NPT
27 3393717 Hexagon Flange Head Cap Screw M10 x 1.50 x 30
28 3606661 O-Ring Seal
29 3909582 Hexagon Head Cap Screw M10 x 1.50 x 16
30 3966253 Water Transfer Connection
31 3966254 Water Transfer Connection
32 5334041 O-Ring Seal
33 3968822 Fill Connection

4942762 Heat Exchanger Housing

34 3895479 | Expansion Plug
35 4942763 | Heat Exchanger Housing
36 4945406 Heat Exchanger Core
37 5304925 Filler Cap
38 4948639 Heat Exchanger Support
39 3978103 Sea Water Pump Tube
40 5314177 Coolant Recovery Reservoir




41

5314178

Expansion Tank Cap

Service As 5314177

43

3349730

Flange



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

